
ARES WALK-IN

This product has been imported by:

BayKer Italia S.p.A. - via Ghiarola Nuova,85/87-41042 Fiorano Modenese (Modena)-ITALY



1

3.2mm

6mm

6

St p 5e



2

Box Contents

5

St p 3e

St p 4e

Ensure wall profiles are plumb.
Adjust enclosure to be square and level.
Wheels should be adjusted to square the
doors and ensure smooth running.

2a

2b

1

2

2d

2c

1

[7]1xBrackets
1xWall Connector.
1xGaskets .
1xWall Plug.
1xFlat Screw M4x35 .

[6]  1xWall Post.

[1] 4xWall Plugs.

[2] 4xFlat Screws M4x35.

[3] 4xScrews M4x8.

[4] 1xFixed Panel.

[5] 3xScrew Cover Caps.

1xInstallation
Instruction.

View f om insider

3.2mm

Screw M4x8

The screw may hit the glass when
lock the profiles if there are some
misoperation, leading to the glass
broken.



[1]  6xWall Plugs
[2]  5xFlat Screws M4x35
[3]  4xScrews M4x8
[4]  1xFixed Panel

[5]  3xScrew Cover Caps
[6]  1xWall Post
[7] 1xBracket

3

Assembly Drawing

[6]

[ ]7
[1]

[2]

[4]

[3]

[5]

Installation Steps

Step 1

4

2

3

1
2

Flat Screw
M4x35

1

Step 2

3


